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O AABC @ AADE

® AD:AB=DE:BC

@ BC:DE=3:2
® CE =3cm
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@ AABC © AADE ©|22 AD : AB = DE : BC o|t}. mwhahA]
4:6=DE:12, DE = 8cm ©|t}.
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BE:CD =BF:CF
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AAFE o ACFB o|B=2
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AABC 94 BD = DE = EC ©|1, DF //EG //CA 9o, A3t
F220] go]7t 6]tk DAGEC 9] Ho| & oA 2.
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BD = DE = EC ©]1, DF //EG //CA °o|B &, -2 A7+
H 22 G§3H=1:2: 3 o|t},

Holol Hl=1:4: 90|22 3 L3P Yol H[=1:3:5
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w2tA 6 : DAGEC = 3 : 5 |22 gAGEC = 10 ©|t}.




10. o2 I1¥o)A /ADE = /ABC, AE: AC=2: 3, AADE = 8cm?
2 wj, oBCDE 9] §ol& oo 2}
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AABC ¢OaAADE ©|11 11 H-28H|7FAC: AE=3:2 0|2 &
wo]o] H]= AABC : AADE =9 : 4 o] Ht}.

AADE = 8cm? ¥ 1w, AABC : 8 = 9 : 4 °]1, AABC =
18(cm?) 7} Hrt.

w2k oBCDE = AABC — AADE = 18 — 8 = 10(cm?)




